5.67 =5+0.6+0.07

34.09 = 30 +| |+ |
@ 3,09 @ 3,0.09 @ 4,09
®)4,0.09 ® 4,2.09

34.09 = 30 + 4 + 0.09
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® (1)04(2)05 @ (1)0.5(2) 0.6
@ 107208 G))os ()09

® (1) 0.6 (2) 0.
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(1) 0.3+0.5 =08
(2) 0.240.7 = 0.9

ong Axto] ol 7iA] A=Al o= vHito] A4tst=




(1) 0.7-0.2 (2) 1-0.3

@ (1)09(2)03 @ (1)09(2)07 @ (1)05(2)0.3
@m o507 ® (1)05(2) 0.9

(1) 0.7-02=05
(2)1-03=10-03=07




56 m|
5@ 5+ m 5+0=0
@ 56,56,112 @ 56,5.6,61.6 ® 56,5.06,61.06

@56, 0.56,5.56 ® 56,0.65,5.65

56 56
51—[)()—5—1—%—54-0.56—5.56




@ (1)4.4 (2)3.33 @ (1)4.40 (2)3.330
® (1)4.04 (2)3.33 @ (1)0.404 (2)0.333

@(1)0.044 (2)0.333

B




O 1.378, 1.381 @ 1.378, 1.308

@ 1.378, 1.382
@ 1.379, 1.381 @1.379, 1.382

0.001 A o] A7) g+ At}

i A H

AR [ ]=1.38-0.001 = 1.379

e[ ]=1.381+0.001 = 1.382




@ (1)0.2 (2) 1.1
® (1) 1.3 (2) 1.1

® (1) 0.2 (2) 1.2

(1) 0.5+08=13

(2) 0.7-04=03




9. o[ ool g 5 AR 1 AL N2,

(1) 0.35 = 0.01 ©] [ ]7Heo]x, 0.11 2 0.01 o] [ |7AQUIe}.
(2) 0.35+0.11 & AupdY7}?

@ (1) 3.5,1.1 (2) 0.46 @ (1) 3.5,11 (2) 0.46
® (1) 35,1.1 (2) 0.46 @(1) 35,11 (2) 0.46
® (1) 350,110 (2) 0.46

(1) 0.35 & 0.01 ©] 35 7io] 1,
0.11 = 0.01 ©] 11 7Ro|ct.
(2) 0.35 4 0.11 = 0.46




10. 250 WAlg vtz Aot A

= A2AL,

(1) 0.78 = 0.17

(2) 0.48 —0.23

@ (1) 0.59 (2) 0.225

@) 061 (2) 025
® (1) 0.62 (2) 0.35

@ (1) 0.6 (2) 0.25
@ (1) 0.61 (2) 0.35

(1) 0.78 = 0.17 = 0.61
(2) 0.48 — 0.23 = 0.25




(1) 0.88-0.78 (2) 0.61-0.18

@ (1) 0.11 (2) 0.33 @ (1) 0.9 (2) 0.43
® (1) 0.9 (2) 0.33 @ (1) 0.1(2) 0.33
@) 01 (2) 043

(1) 0.88—0.78 = 0.1
(2) 0.61 —0.18 = 0.43




12, 0h8 459 A4 go] 714 2 AL ol AR FaA 2.

@ 0.35+0.72 @ 0.54+0.54 ® 0.92+0.11
@)0.47+ 0.2 ® 0.82+0.24

B

@ 0.35+0.72 = 1.07
@ 0.54 4 0.54 = 1.08
® 0.92 +0.11 = 1.03
@ 0.47 4 0.62 = 1.09
® 0.82 4 0.24 = 1.06




13.

JEAQ,

Hr= A A4t gk

filo

5o A

filo

(1) 2.683 +3.019 (2) 4.092 + 3.008

@ (1) 5.692 (2) 6.991 @ (1) 5.692 (2) 7.1
® (1) 5.702 (2) 6.991 @) 5702 (2) 71
® (1) 5.702 (2) 7.01

~&B

(1) 2.683 + 3.019 = 5.702

2.683
+ 3019
5.702

(2) 4.092 + 3.008 = 7.1

4.092
+ 3008
71




14. o= F Atto]l -1 A& ZoA L,

@® 3.46 4 0.38 = 3.84 (@)5.04 +10.7=6.11
® 12.403 + 3.95 = 16.353 @ 4.675 + 6.382 = 11.057

® 15.68 + 30.763 = 46.443

@ 5.04 + 10.7 =15.74




15.

8.56-2.861-355=] |-355=] |

® 5.599, 2.049 @5.699, 2.149 ® 5.599, 2.149

@ 5.699, 2.140 ® 5.689, 2.049

8.56 — 2.861 — 3.55 = 5.699 — 3.55 = 2.149




